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Integration (Indefinite Integrals) 

→ Type: (.) 𝐼 = ∫ 𝑒𝑎𝑥sin(𝑏𝑥 + 𝑐)𝑑𝑥 

               𝐼 = ∫ 𝑒𝑎𝑥cos(𝑏𝑥 + 𝑐)𝑑𝑥 

I repeats of the two types by Parts 

Q.1) (a)𝐼 = ∫ 𝑒2x. cos(3𝑥)𝑑𝑥   (b)𝐼 = ∫ 𝑒𝑎𝑥. sin(𝑑𝑥 + 𝑐)𝑑𝑥 

Sol.1) (a)𝐼 = ∫ 𝑒2x. cos(3x)𝑑𝑥 

      =   cos(3x).
𝑒2x

2
− ∫ (−3sin(3x)).

𝑒2x

2
𝑑𝑥 

      =   
𝑒2x

2
. cos(3x) +

3

2
∫ sin(3x). 𝑒2x𝑑𝑥 

      =   
𝑒2x

2
. cos(3x) +

3

2
[sin(3x).

𝑒2x

2
− ∫ 3cos(3x).

𝑒2x

2
𝑑𝑥] 

𝐼 =
𝑒2x

2
. cos(3x) +

3

2
[
𝑒2x

2
. sin3x −

3

2
𝐼] 

𝐼 =
𝑒2x

2
. cos(3x) +

3

4
𝑒2x. sin(3x) −

9

4
𝐼 

𝐼 +
9

4
𝐼 =

𝑒2x

4
[2cos(3x) + 3sin(3x)] 

13𝐼

4
=

𝑒2x

4
[2cos(3x) + 3sin(3x)] + 𝑐 

  ... 𝐼 =
𝑒2x

13
[2cos(3x) + 3sin(3x)] + 𝑐   ans. 

 

(b)𝐼 = ∫ 𝑒𝑎𝑥. sin(𝑏𝑥 + 𝑐)𝑑𝑥 

       =   sin(𝑏𝑥 + 𝑐).
𝑒𝑎𝑥

𝑎
− ∫ 𝑏cos(𝑏𝑥 + 𝑐).

𝑒𝑎𝑥

𝑎
𝑑𝑥 

      =   
𝑒𝑎𝑥

𝑎
sin(𝑏𝑥 + 𝑐) −

𝑏

𝑎
∫ 𝑒𝑎𝑥. cos(𝑏𝑥 + 𝑐)𝑑𝑥 

      =   
𝑒𝑎𝑥

𝑎
. sin(𝑏𝑥 + 𝑐) −

𝑏

𝑎
[cos(𝑏𝑥 + 𝑐).

𝑒𝑎𝑥

𝑎
− ∫ (−𝑏sin(𝑏𝑥 + 𝑐)).

𝑒𝑎𝑥

𝑎
𝑑𝑥] 

      =   
𝑒𝑎𝑥

𝑎
. sin(𝑏𝑥 + 𝑐) −

𝑏

𝑎
[

𝑒𝑎𝑥

𝑎
. cos(𝑏𝑥 + 𝑐) +

𝑏

𝑎
∫ 𝑒𝑎𝑥. sin(𝑏𝑥 + 𝑐)𝑑𝑥] 

      =   
𝑒𝑎𝑥

𝑎
. sin(𝑏𝑥 + 𝑐) −

𝑏

𝑎
[

𝑒𝑎𝑥

𝑎
cos(𝑏𝑥 + 𝑐) +

𝑏

𝑎
𝐼] 

𝐼 =
𝑒𝑎𝑥

𝑎
. sin(𝑏𝑥 + 𝑐) −

𝑏

𝑎2
𝑒𝑎𝑥. cos(𝑏𝑥 + 𝑐) −

𝑏2

𝑎2
𝐼 

𝐼 +
𝑏2

𝑎2
𝐼 =

𝑒𝑎𝑥

𝑎2
[𝑎 sin(𝑏𝑥 + 𝑐) − 𝑏 cos(𝑏𝑥 + 𝑐)] + 𝑐 

𝐼 (
𝑎2 + 𝑏2

𝑎2
) =

𝑒𝑎𝑥

𝑎2
[𝑎 sin(𝑏𝑥 + 𝑐) − 𝑏cos(𝑏𝑥 + 𝑐)] + 𝑐 

 ... 𝐼 =
𝑒𝑎𝑥

𝑎2+𝑏2 [𝑎 sin(𝑏𝑥 + 𝑐) − 𝑏 cos(𝑏𝑥 + 𝑐)] + 𝑐   ans. 

Q.2) 𝐼 = ∫ 𝑒𝑥. cos2𝑥 𝑑𝑥 
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Sol.2) 𝐼 = ∫ 𝑒𝑥. cos2𝑥𝑑𝑥 

      =   ∫ 𝑒𝑥. {
1+cos(2x)

2
} 𝑑𝑥 

      =   
1

2
∫ 𝑒𝑥 + 𝑒𝑥. cos(2x)𝑑𝑥 

𝐼 =
1

2
∫ 𝑒𝑥𝑑𝑥 +

1

2
∫ 𝑒𝑥. cos(2x)𝑑𝑥 

𝐼 =
1

2
∫ 𝑒𝑥𝑑𝑥 +

1

2
𝐼1 

where𝐼 = ∫ 𝑒𝑥. cos(2𝑥)𝑑𝑥 

      =   cos(2x). 𝑒𝑥 − ∫ − 2sin(2x). 𝑒𝑥𝑑𝑥 

      =   𝑒𝑥. cos(2x) + 2∫ 𝑒𝑥 . sin(2x)𝑑𝑥 

      =   𝑒𝑥. cos(2x) + 2[𝑒𝑥. sin(2x) − 2∫ cos(2x). 𝑒𝑥𝑑𝑥] 

𝐼1 = 𝑒𝑥cos(2x) + 2𝑒𝑥sin(2x) − 4𝐼1 

5𝐼1 = 𝑒𝑥[cos(2x) + 2sin(2x)] 

𝐼1 =
𝑒𝑥

5
[cos(2x) + 2sin(2x)] + 𝑐 

...𝐼 =
1

2
𝑒𝑥 +

1

2
[

𝑒𝑥

5
. (cos(2x) + 2sin(2x))] + 𝑐    ans. 

 

→ Type:     𝐼 = ∫ 𝑒𝑥(𝑓(𝑥) + 𝑓′(𝑥))𝑑𝑥 

               𝐼 = ∫ 𝑒𝑥. 𝑓(𝑥)𝑑𝑥 + ∫ 𝑒𝑥. 𝑓′(𝑥)𝑑𝑥 

                     =𝑓(𝑥). 𝑒𝑥 − ∫ 𝑓′(𝑥). 𝑒𝑥𝑑𝑥 + ∫ 𝑒𝑥. 𝑓′(𝑥)𝑑𝑥 

               𝐼 = 𝑒𝑥. 𝑓(𝑥) + 𝑐 

Q.3) (a)𝐼 = ∫ 𝑒𝑥 (
2+sin(2x)

1+cos(2x)
) 𝑑𝑥                 (b)𝐼 = ∫ 𝑒𝑥 (

1−sin𝑥

1−cos𝑥
) 𝑑𝑥 

(c)𝐼 = ∫ 𝑒2x (
1+sin(2x)

1+cos(2x)
) 𝑑𝑥 

Sol.3) (a)𝐼 = ∫ 𝑒𝑥 (
2+sin(2x)

1+cos(2x)
) 𝑑𝑥 

      =   ∫ 𝑒𝑥 [
2+2 sin 𝑥.cos 𝑥

2cos2𝑥
] 𝑑𝑥 

      =   ∫ 𝑒𝑥 [
2

2cos2𝑥
+

2 sin 𝑥.cos 𝑥

2cos2𝑥
] 𝑑𝑥 

      =   ∫ 𝑒𝑥(𝑠𝑒𝑐2𝑥 + tan 𝑥)

𝑓′(𝑥)𝑓(𝑥)
𝑑𝑥 

      =   ∫ 𝑒𝑥. tan 𝑥 𝑑𝑥 + ∫ 𝑒𝑥𝑠𝑒𝑐2𝑥 𝑑𝑥 

      =   tan 𝑥 . 𝑒𝑥 − ∫ 𝑠𝑒𝑐2𝑥. 𝑒𝑥𝑑𝑥 + ∫ 𝑒𝑥𝑠𝑒𝑐2𝑥 𝑑𝑥 

      =   𝑒𝑥. tan 𝑥 + 𝑐     ans. 

 

(b)𝐼 = ∫ 𝑒𝑥 (
1−sin 𝑥

1−cos 𝑥
) 𝑑𝑥 

      =   ∫ 𝑒𝑥 [
1−2sin

𝑥

2
.cos

𝑥

2

2sin2𝑥

2

] 𝑑𝑥 
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      =   ∫ 𝑒𝑥 [
1

2sin2𝑥

2

−
2sin

𝑥

2
.cos

𝑥

2

2sin2𝑥

2

] 𝑑𝑥 

      =   ∫ 𝑒𝑥 [
1

2
𝑐𝑜𝑠𝑒𝑐2 (

𝑥

2
) − 𝑐𝑜𝑡 (

𝑥

2
)

𝑓′(𝑥)𝑓(𝑥)
] 𝑑𝑥 

      =   −∫ 𝑒𝑥. cot
𝑥

2
𝑑𝑥 +

1

2
∫ 𝑒𝑥. 𝑐𝑜𝑠𝑒𝑐2 𝑥

2
𝑑𝑥 

      =   − [cot
𝑥

2
. 𝑒𝑥 − ∫ −

1

2
𝑐𝑜𝑠𝑒𝑐2 𝑥

2
. 𝑒𝑥𝑑𝑥] +

1

2
∫ 𝑒𝑥. 𝑐𝑜𝑠𝑒𝑐2 𝑥

2
𝑑𝑥 

      =   −𝑒𝑥cot
𝑥

2
−

1

2
∫ 𝑒𝑥. 𝑐𝑜𝑠𝑒𝑐2 𝑥

2
𝑑𝑥 +

1

2
∫ 𝑒𝑥 . 𝑐𝑜𝑠𝑒𝑐2 𝑥

2
𝑑𝑥 

      =   𝐼 = −𝑒𝑥. cot
𝑥

3
+ 𝑐    ans. 

 

(c)𝐼 = ∫ 𝑒2x (
1+sin(2x)

1+cos(2x)
) 𝑑𝑥 

      =   ∫ 𝑒2x (
1+2 sin 𝑥 cos 𝑥

2cos2𝑥
) 𝑑𝑥 

      =   ∫ 𝑒2x. (
1

2
𝑠𝑒𝑐2𝑥 + tan 𝑥) 𝑑𝑥 

      =   ∫ 𝑒2x. tan 𝑥 𝑑𝑥 +
1

2
∫ 𝑒2x. 𝑠𝑒𝑐2𝑥 𝑑𝑥 

      =   tan 𝑥 .
𝑒2x

2
− ∫ 𝑠𝑒𝑐2𝑥.

𝑒2x

2
𝑑𝑥 +

1

2
∫ 𝑒2x. 𝑠𝑒𝑐2𝑥 𝑑𝑥 

𝐼 =
1

2
𝑒2x. tan 𝑥 + 𝑐       ans. 

Q.4) (a)𝐼 = ∫ 𝑒𝑥 −
𝑥

(𝑥+1)2 𝑑𝑥    (b)𝐼 = ∫ 𝑒𝑥 (
𝑥−4

(𝑥−2)3) 𝑑𝑥   

Sol.4) (a)𝐼 = ∫ 𝑒𝑥 −
𝑥

(𝑥+1)2 𝑑𝑥 

      =   ∫ 𝑒𝑥 [
𝑥+1−1

(𝑥+1)2] 𝑑𝑥 

      =   ∫ 𝑒𝑥 [

1

𝑥+1
−

1

(𝑥+1)2

𝑓(𝑥)𝑓′(𝑥)
] 𝑑𝑥 

      =   ∫ 𝑒𝑥.
1

𝑥+1
𝑑𝑥 − ∫ 𝑒𝑥.

1

(𝑥+1)2 𝑑𝑥 

      =   
1

𝑥+1
. 𝑒𝑥 + ∫

1

(𝑥+1)2 . 𝑒𝑥𝑑𝑥 − ∫
1

(𝑥+1)2 . 𝑒𝑥𝑑𝑥 

𝐼 = 𝑒𝑥.
1

𝑥+1
+ 𝑐 ans. 

 

(b)𝐼 = ∫ 𝑒𝑥 (
𝑥−4

(𝑥−2)3) 𝑑𝑥 

      =   ∫ 𝑒𝑥 (
𝑥−4

(𝑥−2)3) 𝑑𝑥 

      =   ∫ 𝑒𝑥 [

1

(𝑥−2)2 −
2

(𝑥−2)3

𝑓(𝑥)𝑓′(𝑥)
] 𝑑𝑥 

  Proceed Yourself 

 𝑒𝑥.
1

(𝑥−2)2 + 𝑐    ans. 
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Q.5) 
𝐼 = ∫ 𝑒𝑥.

(𝑥2 + 1)

(𝑥 + 1)2
𝑑𝑥 

Sol.5) 
𝐼 = ∫ 𝑒𝑥.

(𝑥2 + 1)

(𝑥 + 1)2
𝑑𝑥 

      =   ∫ 𝑒𝑥. [
𝑥2+1+2x−2x

(𝑥+1)2 ] 𝑑𝑥 

      =   ∫ 𝑒𝑥 (
𝑥2+1+2x

(𝑥+1)2 −
2x

(𝑥+1)2) 𝑑𝑥 

      =   ∫ 𝑒𝑥 (1 −
2x

(𝑥+1)2) 𝑑𝑥 

      =   ∫ 𝑒𝑥𝑑𝑥 − 2∫ 𝑒𝑥.
𝑥

(𝑥+1)2 𝑑𝑥 

      =   𝑒𝑥 − 2∫ 𝑒𝑥. [
𝑥+1−1

(𝑥+1)2] 𝑑𝑥 

      =   𝑒𝑥 − 2∫ 𝑒𝑥 (
1

𝑥+1
−

1

(𝑥+1)2) 𝑑𝑥 

      =   𝑒𝑥 − 2 [∫ 𝑒𝑥.
1

𝑥+1
𝑑𝑥 − ∫ 𝑒𝑥.

1

(𝑥+1)2 𝑑𝑥] 

      =   𝑒𝑥 − 2 [
1

(𝑥+1)
. 𝑒𝑥 + ∫

1

(𝑥+1)2 . 𝑒𝑥𝑑𝑥 − ∫ 𝑒𝑥.
1

(𝑥+1)2 𝑑𝑥] 

      =   𝑒𝑥 − 2.
𝑒𝑥

𝑥+1
+ 𝑐 

      =   𝑒𝑥 (1 −
2

(𝑥+1)
) + 𝑐 

      =   𝑒𝑥 (
𝑥−1

𝑥+1
) + 𝑐      ans. 

Q6) (a)𝐼 = ∫
log 𝑥

(log 𝑥+1)2 𝑑𝑥                   (b)𝐼 = ∫ log(log 𝑥) +
1

(log 𝑥)2 𝑑𝑥  

Sol.6) (a)𝐼 = ∫
log 𝑥

(log 𝑥+1)2 𝑑𝑥 

   put log 𝑥 =  𝑡 

    𝑥 =  𝑒𝑡  

    𝑑𝑥 =  𝑒𝑡  𝑑𝑡 

 ...𝐼 = ∫
𝑡

(𝑡+1)2 . 𝑒𝑡𝑑𝑡 

      =   ∫ 𝑒𝑡 [
𝑡+1−1

(𝑡+1)2] 𝑑𝑡 

      =   ∫ 𝑒𝑡 [
1

𝑡+1
−

1

(𝑡+1)2] 𝑑𝑡 

      =   𝑒𝑡 .
1

𝑡+1
+ 𝑐 

replacing 𝑡 

      =   𝑥.
1

log 𝑥+1
+ 𝑐      ans. 

 

(b)𝐼 = ∫ log(log 𝑥) +
1

(log𝑥)2 𝑑𝑥 

  put log 𝑥 =  𝑡 
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    𝑥 =  𝑒𝑡  

    𝑑𝑥 =  𝑒𝑡  𝑑𝑡 

 ... 𝐼 = ∫ (log 𝑡 +
1

𝑡2) . 𝑒𝑡𝑑𝑡 

 adjustment 

      =   ∫ 𝑒𝑡 [log 𝑡 +
1

𝑡
−

1

𝑡
+

1

𝑡2] 𝑑𝑡 

      =   ∫ 𝑒𝑡 (log 𝑡 +
1

𝑡
) 𝑑𝑡 − ∫ 𝑒𝑡 (

1

𝑡
−

1

𝑡2) 𝑑𝑡 

      =   [∫ 𝑒𝑡log 𝑡 𝑑𝑡 + ∫ 𝑒𝑡 .
1

𝑡
𝑑𝑡] − [∫ 𝑒𝑡 .

1

𝑡
𝑑𝑡 − ∫ 𝑒𝑡 .

1

𝑡2 𝑑𝑡] 

      =   [log 𝑡 . 𝑒𝑡 − ∫
1

𝑡
. 𝑒𝑡𝑑𝑡 + ∫ 𝑒𝑡 .

1

𝑡
𝑑𝑡] − [

1

𝑡
. 𝑒𝑡 + ∫

1

𝑡2 . 𝑒𝑡𝑑𝑡 − ∫ 𝑒𝑡 .
1

𝑡2 𝑑𝑡] 

      =   log 𝑡 . 𝑒𝑡 −
1

𝑡
. 𝑒𝑡 + 𝑐 

      =   𝑒𝑡 (log 𝑡 −
1

𝑡
) + 𝑐 

𝐼 = 𝑥 (log(log 𝑥) −
1

log 𝑥
) + 𝑐    ans. 

Q.7). (a)𝐼 = ∫ 𝑒
−𝑥

2
√1−sin 𝑥

1+cos 𝑥
𝑑𝑥                           (b)𝐼 = ∫ 𝑒2x(− sin 𝑥 + 2 cos 𝑥)𝑑𝑥 

 

Sol.7) (a)𝐼 = ∫ 𝑒
−𝑥

2
√1−sin 𝑥

1+cos 𝑥
𝑑𝑥 

      =   ∫ 𝑒
−𝑥

2

√sin2𝑥

2
+cos2𝑥

2
−2sin

𝑥

2
.cos

𝑥

2

2cos2(
𝑥

2
)

𝑑𝑥 

      =   ∫ 𝑒
−𝑥

2

√(sin
𝑥

2
−cos

𝑥

2
)

2

2cos2𝑥

2

 

      =   ∫ 𝑒
−𝑥

2
(sin

𝑥

2
−cos

𝑥

2
)

2cos2(
𝑥

2
)

𝑑𝑡 

      =   ∫ 𝑒
−𝑥

2 [
1

2
tan

𝑥

2
. 𝑠𝑒𝑐

𝑥

2
−

1

2
𝑠𝑒𝑐 (

𝑥

2
)] 𝑑𝑥 

      =   
−1

2
∫ 𝑒

−𝑥

2 𝑠𝑒𝑐 (
𝑥

2
) 𝑑𝑥 +

1

2
∫ 𝑒

−𝑥

2 𝑠𝑒𝑐
𝑥

2
. tan

𝑥

2
𝑑𝑥 

      =   
−1

2
[𝑠𝑒𝑐

𝑥

2
. 𝑒

−𝑥

2 (−2) − ∫ 𝑠𝑒𝑐 (
𝑥

2
) . tan

𝑥

2
. (

1

2
) . 𝑒

−𝑥

2 (−2)𝑑𝑥] +
1

2
∫ 𝑒

−𝑥

2 . 𝑠𝑒𝑐
𝑥

2
tan

𝑥

2
𝑑𝑥 

      =   𝑒
−𝑥

2 . 𝑠𝑒𝑐
𝑥

2
−

1

2
∫ 𝑒

−𝑥

2 . 𝑠𝑒𝑐
𝑥

2
tan

𝑥

2
𝑑𝑥 +

1

2
∫ 𝑒

−𝑥

2 𝑠𝑒𝑐
𝑥

2
tan

𝑥

2
𝑑𝑥 

      =   𝑒
−𝑥

2 𝑠𝑒𝑐 (
𝑥

2
) + 𝑐     ans. 

→ Type:     ∫ √𝑄𝑢𝑎𝑑𝑟𝑎𝑡𝑖𝑐and∫ 𝐿𝑖𝑛𝑒𝑎𝑟√𝑄𝑢𝑎𝑑𝑟𝑎𝑡𝑖𝑐 

            Perfect Square. Use Long Formula 

Q.8) (a)𝐼 = ∫ √(𝑥 − 3)(5 − 𝑥)𝑑𝑥    (b)𝐼 = ∫ √2x2 + 3x + 4 𝑑𝑥  

(c)𝐼 = ∫ √3 − 2x − 2x2𝑑𝑥 
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Sol.8) (a)𝐼 = ∫ √(𝑥 − 3)(5 − 𝑥)𝑑𝑥 

      =   ∫ √5x − 𝑥2 − 15 + 3x𝑑𝑥 

      =   ∫ √−𝑥2 + 8x − 15𝑑𝑥 

     =   ∫ √−[𝑥2 − 8x − 15]𝑑𝑥 

      =   ∫ √−[𝑥2 − 8x + 15]𝑑𝑥 

      =   ∫ √−[(𝑥 − 4)2 + 6 + 15]𝑑𝑥 

      =   ∫ √−[(𝑥 − 4)2 − 1]𝑑𝑥 

      =   ∫ √12 − (𝑥 − 4)2𝑑𝑥 

      =   
(𝑥−4)

2
√1 − (𝑥 − 4)2 +

1

2
sin−1 (

𝑥−4

1
) + 𝑐 

      =   
(𝑥−4)

2
√(𝑥 − 3)(5 − 𝑥) +

1

2
sin−1(𝑥 − 4) + 𝑐     ans. 

Q.9) 𝐼 = ∫ cos𝑥√4 − sin2𝑥𝑑𝑥 

Sol.9) 𝐼 = ∫ cos𝑥√4 − sin2𝑥 𝑑𝑥 

  put 𝑠𝑖𝑛 𝑥 =  𝑡 

   ∴   𝑐𝑜𝑠 𝑥 𝑑𝑥 =  𝑑𝑡 

𝐼 = ∫ √4 − 𝑡2𝑑𝑡 

      =   
1

2
√4 − 𝑡2 + 2sin−1 (

𝑡

2
) + 𝑐 

      =   
sin𝑥

𝑥
√4 − sin2𝑥 + 2sin−1 (

sin𝑥

2
) + 𝑐    ans. 

Q.10) (a)𝐼 = ∫ (3x − 2)√𝑥2 + 𝑥 + 1𝑑𝑥           (b) 𝐼 = ∫ (4x + 1)√𝑥2 − 𝑥 − 2𝑑𝑥 

Sol.10) (a)𝐼 = ∫ (3x − 2)√𝑥2 + 𝑥 + 1𝑑𝑥 

 (take 2𝑥 +  1) 

      =   3∫ (𝑥 −
2

3
) √𝑥2 + 𝑥 + 1𝑑𝑥 

      =   
3

2
∫ (2x −

4

3
) √𝑥2 + 𝑥 + 1𝑑𝑥 

      =   
3

2
∫ (2x −

4

3
+ 1 − 1) √𝑥2 + 𝑥 + 1𝑑𝑥 

      =   ∫ √5x − 𝑥2 − 15 + 3x𝑑𝑥 

      =   
3

2
∫ (2x + 1)√𝑥2 + 𝑥 + 1𝑑𝑥 −

7

2
∫ √𝑥2 + 𝑥 + 1𝑑𝑥 

  put   𝑥2 + 𝑥 + 1 = 𝑡  in  I 

(2𝑥 + 1)𝑑𝑥 = 𝑑𝑡 

      =   
3

2
∫ √𝑡𝑑𝑡 −

7

2
∫ √(𝑥 +

1

2
)

2
−

1

4
+ 1𝑑𝑥 

      =   
3

2
×

2

3
(√𝑡)

3

2 −
7

2
∫ √(𝑥 +

1

2
)

2
+ (

√3

2
)

2

𝑑𝑥 
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      =   (√𝑡)
3

2 −
7

2
[

(𝑥+
1

2
)

2
√(𝑥 +

1

2
)

2
+ (

√3

2
)

2

+
3

8
log

∣
∣
∣
∣
(𝑥 +

1

2
) + √(𝑥 +

1

2
)

2
+ (

√3

2
)

2

∣
∣
∣
∣
] 

      =   (√𝑥2 + 𝑥 + 1)
3

2 −
7

2
[

(2x+1)

4
√𝑥2 + 𝑥 + 1 +

3

8
log ∣

∣2x+1

2
+ √𝑥2 + 𝑥 + 1∣

∣] 

 

(b)𝐼 = ∫ (4x + 1)√𝑥2 − 𝑥 − 2𝑑𝑥 

      =   2∫ (2x +
1

2
) √𝑥2 − 𝑥 − 2𝑑𝑥 

      =   2∫ (2x +
1

2
− 1 + 1) √𝑥2 − 𝑥 − 2𝑑𝑥 

      =   2∫ (2x − 1 +
3

2
) √𝑥2 − 𝑥 − 2𝑑𝑥 

      =   2∫ (2x − 1)√𝑥2 − 𝑥 − 2𝑑𝑥 + 3∫ √𝑥2 − 𝑥 − 2𝑑𝑥 

  put 𝑥2 − 𝑥 − 2 = 𝑡 

       (2𝑥 –  1)𝑑𝑥 =  𝑑𝑡 

 ...𝐼 = 2∫ 𝑑𝑡 + 3∫ √(𝑥 −
1

4
)

2
−

1

4
− 2𝑑𝑥 

      =   2 ×
2

3
(𝑡)

3

2 + 3∫ √(𝑥 −
1

2
)

2
− (

3

2
)

2
𝑑𝑥 

      =   
4

3
(𝑡)

3

2 + 3 [
𝑥−

1

2

2
√(𝑥 −

1

2
)

2
− (

3

2
)

2
−

9

8
log

∣
∣
∣
∣
(𝑥 −

1

2
) + √(𝑥 −

1

2
)

2
− (

3

2
)

2

∣
∣
∣
∣
] 

      =   
4

3
(𝑥2 − 𝑥 − 2)

3

2 + 3 [
2x−1

4
√𝑥2 − 𝑥 − 2 −

9

8
log ∣

∣2x−1

2
+ √𝑥2 − 𝑥 − 2∣

∣]  ans. 
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